PRODUCTION 3 – Second look at the results

Cuts used in the pico file
|Cos(θ*)| < 0.6

|RapidityD0| < 0.5

|ndEdx|K,π < 2
SiHits>2

dcaXY < 0.1

probability > 0.1

|EtaD0| < 1.85

	No Offline Cuts
	S/N ~ 1.3791

	50 < slength < 400um
	 1.4001

	50 < |slength| < 400um
	2.2085 (plot below)

	slength/dslength>0
	No Signal

	50 < |slength| < 400um && |slength/dslength|>1
	No Signal
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	ChargeK*ChargePi < 0
	No Signal

	50 < |slength| < 400um && |D0dcaPV|<200
	2.6412 (1st fig. below)

	50 < |slength| < 400um && |D0dcaPV|<300
	2.2459 (2nd fig.below)

	50 < |slength| < 400um && |D0dcaPV|<400
	2.2085
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	50 < |slength| < 400um && |D0dcaPV|<200 && TrackDcaKpi < 100
	2.6893

	50 < |slength| < 400um && |D0dcaPV|<200 && TrackDcaKpi < 200
	5.562 ( 1st bottom plot)

	50 < |slength| < 400um && |D0dcaPV|<200 && TrackDcaKpi < 300
	4.897 (2nd bottom plot)
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	50 < |slength| < 400um && |D0dcaPV|<200 && TrackDcaKpi < 200 && ChargeK*ChargePi <0 (D0+D0bar)
	4.3165 (1st plot below)

	50 < |slength| < 400um && |D0dcaPV|<200 && TrackDcaKpi < 200 && ChargeK<0 && ChargePi > 0 (D0)
	2.7028 (2nd plot below)

	50 < |slength| < 400um && |D0dcaPV|<200 && TrackDcaKpi < 200 && ChargeK >0 && ChargePi <0 (D0bar)
	3. 3909 (3rd plot below)


D0 + D0bar
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Next Steps:
1. Try same sign charge subtraction

2.  Try cuts using (slength/dslength) etc. 

3. Increase statistics 
